Put the verbs into the passive form.

1) Even recycled paper starts in a tree. Trees from forests are replaced with new young trees.
2) The wood ----------------- (cut) into small pieces.

3) The wood chips ---------------------- (mix) with water to produce a pulp (масса).

4) Used paper--------------------- (collect) from recycling centres. It --------------------- (sort) into different kinds of paper. Than it ---------------------- (take) to paper factories.

5) The used paper ----------------- -(cut), --------------------- (wash) and ----------------- (mix) with the fresh wood pulp.

6) Colours  ----------------- -(add). Then the pulp --------------- (dry) to form a huge roll of paper.
Put the verbs into the passive form.

7) Even recycled paper starts in a tree. Trees from forests are replaced with new young trees.

8) The wood ----------------- (cut) into small pieces.

9) The wood chips ---------------------- (mix) with water to produce a pulp (масса).

10) Used paper--------------------- (collect) from recycling centres. It --------------------- (sort) into different kinds of paper. Than it ---------------------- (take) to paper factories.

11) The used paper ------------------ (cut), --------------------- (wash) and ----------------- (mix) with the fresh wood pulp.

12) Colours  ----------------- -(add). Then the pulp --------------- (dry) to form a huge roll of paper.
